T30 £F 2 A-_FEi@sESs SERUSHMBERE ()

=B

TEH30FE5H2 2 BEE NDESERE

TRELABTY,

6A 1B (%) 9:00 EBESEEEES
9:30 E=3
OFEHRE BITEAIK Y

QELZEDERIZDONT

QEHADREIZ DT 6/1~6/8 8 BfS

@DF EL=BICHEIER2VERET 012, BBETHRE. LE | BEE 1
FEDIERE, EFBEEEEREHFHIEORE - iR Z RO LHMEFE

OHE|IEREESHEZFICOLNTORIE PBEIEE 2 &

CH - ABRBEEEHEOREICRAT IERENRHIZON
T

BEREEBEE2S

OEEEETHHIEEZESZTADEZIIONT

@FRULSDEAZBERDDH ZEITDONT
(ZERRESD—EBZERIEYT S 5EHD

QOFERLSDEBERODZ EIZDNT

z= | (CEHERERREHREAOC—EHBERET SEH)
W= EET{TRFHEEGIO—EHZHRIES 555 BEF IS
# | O-EEHREFDO—HBERET HEH EEF B E
D_=ETHRRRNEREEABIROXMRVEEICHIIEEZED | BREI S
HEBID—HERET 2%
BFM 0 FE_EMN—RIHABETFE (F15) BEF S
OFr 29 FEZEMI AR A ERRERVREHECONT WEE1H
BFAK 29 FEZEH— M FERGEREBATEORECOVT | HEE2S
®FK 29 FEZZHM—REH PREUAFRREHEEORSEITOV | HEX IS
<
DFm 29 FEZEN—REKH FTEEHEB LREHBEOREICOL | HEF LIS
T
6A 2H () #® =
6A 3H (A) # =
6A 48 (A) A& HK=
9:30 REESRAREZAR HRERHEER
REEREEEERESRTR BERIUEEZER FEERHEER
6A 58 (k) K=
6H 6 9:30 =& \
A 68 (K AR -,
_F‘}QEFDE]
6A 7B (K) 9:80 e
ﬁ * TR L E 1

- F‘}Q E FDE]




6A 8H (£) 13:00 £

W& - HEE - AT -

8| ZARME (5 - WH) ey

Rk TR  ER=AEHER

XCDAEEF, 6 A1HDASETERICRELEY . RRELDIHANHYEITDT, CTETEL,



